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1. Complete the information requested on the answer sheet.
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PRINT the name of the event, ECONOMICS on the “Subject” line.

PRINT the name of your CHAPTER on the “DATE” line.

2. All answers will be recorded on the answer sheet.

Please do not write on the test booklet.

Scrap paper will be provided.

3. Read each question completely before answering.  With a NO. 2 pencil, blacken in your choices completely on the answer sheet.  Do not make any other marks on the answer sheet, or the scoring machine will reject it.

4. You will be given 60 minutes for the test.  You will be given a starting signal and a signal after 50 minutes have elapsed.




Tie will be broken using the last 10 questions of the test.

1.
The resources used to make all goods and services are the

	a.
	production possibilities.
	c.
	production trade-offs.

	b.
	factors of production.
	d.
	opportunity costs.



2.
An efficient economy is one that

	a.
	has very few people who do not work for a living.

	b.
	makes the best use of all its goods and services.

	c.
	uses its resources to make the most goods and services.

	d.
	makes the least costly use of its resources.



3.
The opportunity cost of a decision can be examined by using a

	a.
	production possibilities graph.
	c.
	global trade-off grid.

	b.
	factors of production chart.
	d.
	graph of increasing costs.



4.
The government of a country must make a decision between spending money on a hospital or spending the same amount on border security. What kind of decision is this?

	a.
	guns or butter
	c.
	global trade-off

	b.
	decision at the margin
	d.
	production efficiency decision



5.
Which of the following makes someone an entrepreneur?

	a.
	earning a lot of money as a computer programmer

	b.
	becoming a highly paid dancer

	c.
	running a service that hires people to install sprinkler systems in lawns

	d.
	inventing and selling the rights to manufacture a computer game



6.
What is the struggle among various producers for the consumer’s business called?

	a.
	socialism
	c.
	incentive

	b.
	competition
	d.
	self-regulation



7.
Which of the following is NOT a key economic question?

	a.
	What goods and services should be produced?

	b.
	How should these goods and services be produced?

	c.
	Who consumes these goods and services?

	d.
	How should it be ensured that goods and services are paid for?



8.
What does the process of specialization do for an economy?

	a.
	It eliminates unemployment.
	c.
	It fosters competition.

	b.
	It makes it more efficient.
	d.
	It makes it easier to control.



9.
Which of the following is characteristic of a traditional economy?

	a.
	Communities tend to be fast-growing.

	b.
	They are usually based on light industrial production.

	c.
	They have a high standard of living.

	d.
	Children tend to have the same jobs as their parents did.



10.
In what kind of an economy does the government make all the decisions?

	a.
	socialist
	c.
	centrally planned

	b.
	laissez faire
	d.
	free enterprise



11.
What is the purpose of competition?

	a.
	to act as a regulating force in the marketplace

	b.
	to cause producers to attempt to put each other out of business

	c.
	to cause buyers to have to be careful about spending their money

	d.
	to act as a motivating force behind the free market



12.
What is the function of an economic system?

	a.
	to make sure all people have equal access to goods

	b.
	to produce and distribute goods and services

	c.
	to give all producers the same access to consumers

	d.
	to make sure people are paid for their labor



13.
Which of the following is a condition that most people would NOT expect the safety net of the government to provide for?

	a.
	injuries
	c.
	natural disasters

	b.
	joblessness
	d.
	low income



14.
What is an important advantage of a free market?

	a.
	It does not change unless the government directs it.

	b.
	It offers a wide variety of goods and services.

	c.
	It is easy to regulate.

	d.
	It protects the less fortunate.



15.
Which of the following is a private organization that attempts to influence public officials to act or vote in ways that will benefit the group’s members?

	a.
	market research group
	c.
	public policy group

	b.
	free enterprise group
	d.
	interest group



16.
Which of the following is NOT an example of a public good?

	a.
	highways
	c.
	shopping malls

	b.
	national parks
	d.
	municipal libraries



17.
What effect does new technology usually have on an economy?

	a.
	It reduces the available jobs.

	b.
	It slows an economy down for at least a while.

	c.
	It reduces the dependence of the economy on business.

	d.
	It makes the economy stronger and more efficient.



18.
Why does the government require businesses to disclose so much information to the public?

	a.
	to make it easier for consumers to save money

	b.
	to make buyers more knowledgeable and safer

	c.
	to make it hard for businesses to make an excess profit

	d.
	to make it easy for businesses to have good information



19.
What determines the price and the quantity produced of most goods?

	a.
	the consumer’s perception of necessity

	b.
	the interaction of supply and demand

	c.
	the availability of substitutes for the goods

	d.
	the quality of the goods that are produced



20.
What determines how a change in prices will affect total revenue for a company?

	a.
	elasticity of demand
	c.
	values of elasticity

	b.
	the company’s pricing policy
	d.
	the consumers’ incomes



21.
What does it mean when the demand for a product is inelastic?

	a.
	People will not buy any of the product when the price goes up.

	b.
	A price increase does not have a significant impact on buying habits.

	c.
	Customers are sensitive to the price of the product.

	d.
	There are very few satisfactory substitutes for the product.



22.
How is the current demand for a good related to its future price?

	a.
	If the price is expected to drop, current demand will fall.

	b.
	If the price is expected to drop, current demand will rise.

	c.
	If the price is expected to rise, current demand will fall.

	d.
	Current demand is not related to future price.



23.
Which of the following is a good that might not be bought when prices rise?

	a.
	complement
	c.
	inferior good

	b.
	substitute
	d.
	luxury



24.
What kind of changes would be expected in the demand of a country that has a growing population?

	a.
	a rise in the demand for recreation

	b.
	a shift in the demand for high-quality food

	c.
	a rise in the demand for shelter

	d.
	a lowering in the demand for automobiles



25.
What is a company’s total revenue?

	a.
	the price of a company’s goods

	b.
	the amount a company receives for selling its goods

	c.
	the amount of goods a company can expect to sell

	d.
	the amount of profit a company can expect to make



26.
When prices rise, which of the following happens to income?

	a.
	It goes down.
	c.
	It rises to meet prices.

	b.
	It buys less.
	d.
	It is used to buy different things.



27.
Which of the following goods would be likely to be bought in the same quantity even if it doubled in price?

	a.
	shoes
	c.
	pencils

	b.
	telephones
	d.
	computers



28.
Which of the following is an example of lower production costs brought about by the use of technology?

	a.
	the delivery costs of gasoline to the consumer by diesel trucks

	b.
	the use of e-mail to replace slower surface mail

	c.
	the making of breads and pastries in local shops rather than large bakeries

	d.
	the importing of fresh vegetables from South America rather than using canned vegetables



29.
What is the effect of import restrictions on prices?

	a.
	They cause prices to drop.

	b.
	They cause prices to rise.

	c.
	They often cause prices to rise steeply and then drop.

	d.
	They usually do not have any lasting effect on price.



30.
Which of the following is an example of a good with an inelastic supply?

	a.
	beanbags
	c.
	apples

	b.
	toothbrushes
	d.
	hats



31.
Which of the following receives government subsidies that are in place to protect the population rather than for economic reasons?

	a.
	a national car company in Indonesia
	c.
	tobacco growers in the United States

	b.
	small farmers in France
	d.
	national airlines in Western Europe



32.
When the selling price of a good goes up, what is the relationship to the quantity supplied?

	a.
	The cost of production goes down.

	b.
	The profit made on each item goes down.

	c.
	It becomes practical to produce more goods.

	d.
	There is no relationship between the two.



33.
What factor has the greatest influence on elasticity and inelasticity of supply?

	a.
	profit
	c.
	labor

	b.
	time
	d.
	financing



34.
What do sellers do if they expect the price of goods they have for sale to increase dramatically in the near future?

	a.
	store the goods until the price rises

	b.
	store the goods indefinitely regardless of when the price rises

	c.
	sell the goods now but try to get the higher price for them

	d.
	sell the goods now and try to invest the money instead of resupplying



35.
Which of the following is a fixed cost for a store?

	a.
	short-term workers
	c.
	advertising

	b.
	rent
	d.
	inventory



36.
What is the effect of import restrictions on prices?

	a.
	They cause prices to rise.

	b.
	They cause prices to drop.

	c.
	They often cause prices to rise steeply and then drop.

	d.
	They usually do not have any lasting effect on price.



37.
Why did Communist governments use a command economic system for many years?

	a.
	as a way to avoid the expense and difficulties of a free market

	b.
	in an attempt to create a society in which everyone was equal

	c.
	to limit the costs of production of many goods

	d.
	as a method of keeping the consumer from getting what he or she wanted



38.
Why did the U.S. government use rationing for some foods and consumer goods during World War II?

	a.
	to guarantee each civilian a minimum standard of living in wartime

	b.
	to keep sellers from raising prices on necessary goods

	c.
	because the English government had also decided on rationing

	d.
	to earn more money to support the military



39.
What is the name of the smallest amount that can legally be paid to most workers for an hour of work?

	a.
	equilibrium price
	c.
	price floor

	b.
	supply cost
	d.
	minimum wage



40.
What happens when wages are set above the equilibrium level by law?

	a.
	Firms employ fewer workers than they would at the equilibrium wage.

	b.
	Firms employ more workers than they would at the equilibrium wage.

	c.
	Firms tend to try to break the law and hire people at the equilibrium level.

	d.
	Firms hire more workers but for fewer hours than they would at the equilibrium wage.



41.
What happens when the supply of a nonperishable good is greater than the consumer wants to buy?

	a.
	the good is discarded

	b.
	the good becomes a luxury and the price rises

	c.
	either the good is saved for later sale or the price is raised

	d.
	either the good remains unsold or the price drops



42.
What is monopolistic competition?

	a.
	one company selling the identical product under different names

	b.
	one company selling several different products under different names

	c.
	a very few companies selling identical products

	d.
	many companies selling similar but not identical products



43.
When the government deregulates a product or service, what happens to it?

	a.
	The product or service is available to more people.

	b.
	The product or service becomes cheaper.

	c.
	Some government regulations over the industry are eliminated.

	d.
	Government control over the industry is stopped.



44.
How does a natural monopoly function?

	a.
	A few firms are in perfect competition.

	b.
	Imperfect competition makes it difficult for firms to do business.

	c.
	A single firm supplies all the output.

	d.
	The government supplies all buyers with the product.



45.
Why are cartels difficult to operate successfully?

	a.
	They are illegal worldwide.

	b.
	The products are perfectly competitive.

	c.
	Firms in a cartel are likely to lose money.

	d.
	They work only if members keep to their agreed output.



46.
Which of the following is NOT a form of nonprice competition?

	a.
	discounts
	c.
	image and status

	b.
	physical characteristics
	d.
	location of stores



47.
What is one of the effects that the Internet has had on business?

	a.
	It has contributed to many business failures.

	b.
	It has decreased the kinds of goods that are available to individual buyers.

	c.
	It has increased the prices of goods that are not bought on the Internet.

	d.
	It has reduced start-up costs for many businesses.



48.
Why is it easier for a partnership to borrow money and to hold good employees than it is for a sole proprietorship to do so?

	a.
	The more limited access to a partner’s personal funds make the business more careful.

	b.
	The large number of partners makes it more likely that the business will be a success.

	c.
	The larger number of partners means that people are easier to get along with.

	d.
	A partnership has more personal stability and access to more money.



49.
What is the major difference between a corporation and other kinds of businesses?

	a.
	A corporation is much larger than other kinds of businesses.

	b.
	A corporation is not responsible for its debts if it fails.

	c.
	A corporation has a separate entity apart from that of the owners and workers.

	d.
	A corporation has officers who are responsible for the business.



50.
Which of the following represents the percentage of all U.S. businesses that are corporations, and the percentage of all goods that those corporations sell?

	a.
	10 percent of businesses; 50 percent of goods sold

	b.
	20 percent of businesses; 90 percent of goods sold

	c.
	50 percent of businesses; 75 percent of goods sold

	d.
	20 percent of businesses; 50 percent of goods sold



51.
What are organizations that are in the business of benefiting society and operate like a business called?

	a.
	trade associations
	c.
	producer cooperatives

	b.
	nonprofit organizations
	d.
	limited partnerships



52.
Which of the following represents the percentage of all U.S. businesses that are corporations, and the percentage of all goods that those corporations sell?

	a.
	10 percent of businesses; 50 percent of goods sold

	b.
	20 percent of businesses; 50 percent of goods sold

	c.
	20 percent of businesses; 90 percent of goods sold

	d.
	50 percent of businesses; 75 percent of goods sold



53.
If a general partnership fails, who is responsible for the debts?

	a.
	no one

	b.
	anyone who works for the partnership

	c.
	only the most senior general partner

	d.
	all of the partners



54.
What is the major difference between a corporation and other kinds of businesses?

	a.
	A corporation is a separate entity apart from that of the owners.

	b.
	A corporation is not responsible for its debts if it fails.

	c.
	A corporation is much larger than other kinds of businesses.

	d.
	A corporation has officers who are responsible for the business.



55.
What are royalties?

	a.
	fees paid to celebrities for using their names

	b.
	fees paid to law firms and accountants

	c.
	a percentage of profits paid to the government

	d.
	a percentage of earnings paid for a franchise



56.
Approximately what percentage of U.S. workers belong to labor unions?

	a.
	9 percent
	c.
	25 percent

	b.
	14 percent
	d.
	42 percent



57.
What is collective bargaining?

	a.
	union and company representatives meeting to negotiate a new labor contract

	b.
	an organization of workers representing several different occupations

	c.
	an agreement to allow everyone to be part of the labor negotiating process

	d.
	a situation in which the rights of labor have been set aside



58.
What is the purpose of the Federal Deposit Insurance Corporation (FDIC)?

	a.
	to make sure that banks do not fail

	b.
	to make sure that customers do not lose money if a bank fails

	c.
	to make sure that banks charge a fair amount of interest on loans

	d.
	to make sure that the government has enough gold to cover its expenses



59.
What is a mortgage used to purchase?

	a.
	car
	c.
	college tuition

	b.
	real estate
	d.
	business expenses



60.
Which of the following is NOT an example of a liquid asset?

	a.
	cash
	c.
	a certificate of deposit

	b.
	travelers’ checks
	d.
	a checking account



61.
What happens during a bank run?

	a.
	The government orders a bank to close.

	b.
	States charter more banks than needed.

	c.
	The price of gold suddenly increases.

	d.
	More customers withdraw money than the bank has on hand.



62.
Which of the following is NOT an example of M1 money?

	a.
	currency
	c.
	travelers’ checks

	b.
	a mutual fund
	d.
	a checking account



63.
The main advantage of diversification as an investment policy is that it

	a.
	reduces risk to investors.

	b.
	increases investors’ access to their money.

	c.
	offsets the effects of inflation on investments.

	d.
	guarantees a fixed rate of return on an investment.



64.
The interest rate the bond issuer pays to the bondholder is called the

	a.
	coupon rate.
	c.
	discount rate.

	b.
	maturity rate.
	d.
	value rate.



65.
An example of equity is

	a.
	a treasury bond.
	c.
	a treasury bill.

	b.
	a share of stock.
	d.
	a long-term certificate of deposit.



66.
The Dow Jones Industrial Average consists of

	a.
	500 different stocks that change annually.

	b.
	30 stocks that are considered representative of the market as a whole.

	c.
	the top-selling 250 stocks over a 10-year period.

	d.
	60 stocks selected from the NYSE, the NASDAQ-AMEX, and the OTC market.



67.
When you invest in a mutual fund,

	a.
	your money is invested in a variety of insurance policies.

	b.
	you have easier access to your money than in a savings account.

	c.
	your money is invested in a variety of stocks and bonds.

	d.
	you are guaranteed a fixed return on your investment.



68.
You do not have to pay state taxes on interest earned on

	a.
	corporate bonds.
	c.
	money market mutual funds.

	b.
	treasury bills.
	d.
	junk bonds.



69.
An example of equity is

	a.
	a treasury bill.
	c.
	a corporate bond.

	b.
	a share of stock.
	d.
	a short-term certificate of deposit.



70.
The Dow Jones Industrial Average consists of

	a.
	500 different stocks that change annually.

	b.
	the top-selling 250 stocks over a 10-year period.

	c.
	30 stocks that are considered representative of the market as a whole.

	d.
	60 stocks selected from the NYSE, the NASDAQ-AMEX, and the OTC markets.



71.
The main economic variables that affect business cycles include all of the following EXCEPT

	a.
	interest rates.
	c.
	personal savings levels.

	b.
	external events.
	d.
	business investment levels.



72.
All of the following actions promote capital deepening EXCEPT

	a.
	raising taxes to pay for building roads.

	b.
	saving less and spending more of one’s disposable income.

	c.
	borrowing money from foreign nations to invest in building infrastructure in this country.

	d.
	a low population growth rate at the same time that capital stock expands.



73.
All of the following measures help to promote technological progress EXCEPT

	a.
	increased wages for researchers.

	b.
	issuing a patent to a company that invents a new product.

	c.
	training programs for workers.

	d.
	reducing the scale of the market for a new product.



74.
The calculation of GDP would include

	a.
	the sale of a 25-year-old house.

	b.
	the income of a person who pays rent by babysitting for the homeowner’s children.

	c.
	the income of a high school English teacher.

	d.
	the price of the steel used to build a new hotel.



75.
The amount of money a person has left of his or her income after taxes is called

	a.
	aggregate income.
	c.
	national income.

	b.
	personal income.
	d.
	disposable personal income.



76.
The lowest point in an economic contraction is called

	a.
	a peak.
	c.
	a recession.

	b.
	a trough.
	d.
	a depression.



77.
All of the following actions promote capital deepening EXCEPT

	a.
	raising taxes to pay for the building of roads.

	b.
	spending a larger portion of one’s disposable income.

	c.
	a low population growth rate at the same time that capital stock expands.

	d.
	borrowing money from foreign nations to invest in building infrastructure in this country.



78.
What is the difference between seasonal unemployment and structural unemployment?

	a.
	Seasonal unemployment occurs because of schedules, whereas structural occurs because people lack skills.

	b.
	Seasonal unemployment is rare in a modern society, whereas structural is not.

	c.
	Seasonal unemployment occurs only in the summer, whereas structural can occur all year round.

	d.
	Seasonal unemployment is generally among low-paid workers, whereas structural is among the highly paid.



79.
What does it mean when a person is underemployed?

	a.
	The person has been working but now is laid off.

	b.
	The person is looking for work in a special field.

	c.
	The person is not making as much money as they need.

	d.
	The person has a job but they are overqualified for it.



80.
An example of expansionary fiscal policy would be

	a.
	cutting taxes.
	c.
	cutting production of consumer goods.

	b.
	cutting government spending.
	d.
	cutting prices of consumer goods.



81.
All of the following are reasons why it is difficult to put balanced fiscal policy into practice EXCEPT

	a.
	the need for discretionary spending.

	b.
	political pressures for reelection.

	c.
	difficulty of predicting future economic performance.

	d.
	difficulty of coordinating the needs of many different agencies.



82.
The purpose of expansionary fiscal policy is to

	a.
	increase output.

	b.
	prevent hyperinflation.

	c.
	slow the growth of the GDP.

	d.
	increase the separation between government and private industry.



83.
When revenues exceed expenditures,

	a.
	there is a budget deficit.

	b.
	there is a budget surplus.

	c.
	the government has to borrow money at higher interest rates.

	d.
	the government has to cut spending.



84.
What is the cost of money?

	a.
	the smoothing out of fluctuations in the market

	b.
	the economy’s use of open market operations

	c.
	the price of the interest rate

	d.
	the bank’s use of money creation



85.
How quickly can an increase in government spending increase the gross domestic product?

	a.
	immediately
	c.
	6 months

	b.
	3 months
	d.
	1 year



86.
What does “lender of last resort” mean with respect to the Federal Reserve?

	a.
	It will lend money to a bank in a financial emergency.

	b.
	It makes decisions about who a bank can lend money to.

	c.
	It decides interest rates for interbank loans.

	d.
	It has the power to decide how much money a bank can lend out.



87.
Which of the following is one way the Federal Reserve Bank serves the government?

	a.
	making loans to the government
	c.
	minting coins for the government

	b.
	selling government securities
	d.
	financing state government projects



88.
What type of policy does the Fed use to counteract a contraction?

	a.
	fiscal policy
	c.
	easy money policy

	b.
	tight money policy
	d.
	policy lags



89.
What was the result of the Bretton Woods Conference?

	a.
	the creation of a fixed exchange-rate system for the United States and much of western Europe

	b.
	the creation of a flexible exchange-rate system for the United States and much of western Europe

	c.
	the creation of the euro

	d.
	the creation of NAFTA



90.
How do countries protect their domestic economy from excessive influence by multinational corporations?

	a.
	by raising the price of goods provided by the multinationals

	b.
	by developing their internal economies

	c.
	by limiting the supplies of the multinational corporation

	d.
	by requiring the multinational to export a certain percentage of its product



91.
Who is the largest trading partner of the United States?

	a.
	the European Union

	b.
	the NAFTA countries

	c.
	the Asia & Pacific Economic Cooperation

	d.
	the Southern Common Market



92.
What country is the world’s largest exporter of services?

	a.
	Japan
	c.
	United States

	b.
	Germany
	d.
	Great Britain



93.
What is the European Union?

	a.
	a union of the six countries of the Common Market

	b.
	a pact between Europe and the United States regarding tariffs

	c.
	a regional trade organization of European nations

	d.
	a political amalgam of European and Asian countries



94.
Which of the following is an advantage for the host country of a multinational corporation?

	a.
	greater protective tariffs
	c.
	greater political power

	b.
	greater employment opportunities
	d.
	greater income from tariffs



95.
Factors that have contributed to limiting development in poor nations include all of the following EXCEPT

	a.
	relying on a free market economy to stimulate economic growth.

	b.
	spending money on weapons at the expense of infrastructure.

	c.
	government leaders who accumulate personal fortunes at the expense of their nations.

	d.
	a history of colonialism that prevented countries from producing their own goods.



96.
All of the following are accurate statements about the special economic zones established in China EXCEPT

	a.
	foreign companies are allowed to operate in these zones.

	b.
	the economic zones established in the interior regions have been far more successful than those established in coastal cities.

	c.
	business owners are permitted to make most of their own decisions.

	d.
	the success of the zones has caused a great shift in the distribution of the population in the country.



97.
An example of foreign direct investment would be

	a.
	a wealthy person from an LDC investing his money in a foreign bank.

	b.
	a factory that is built in an LDC but owned by a foreign company.

	c.
	a new highway in an LDC financed by money borrowed from a foreign government.

	d.
	a person from a developed nation investing money in the stock market of an LDC.



98.
All of the following are associated with moving from a centrally planned economy to a market economy EXCEPT

	a.
	a rise in unemployment.

	b.
	the protection of individual property rights.

	c.
	an increase in competition for high paying jobs.

	d.
	an increase in the role the government plays in the day-to-day operation of a business.



99.
Economic problems in China were caused by all of the following EXCEPT

	a.
	the Cultural Revolution of the 1960s.

	b.
	overproduction of unneeded consumer goods.

	c.
	lack of incentives to workers to work hard.

	d.
	an overemphasis on the development of heavy industry.



100.
All of the following are accurate statements about the special economic zones established in China EXCEPT

	a.
	business owners are permitted to make many of their own decisions.

	b.
	foreign companies are excluded from investing in these zones.

	c.
	the zones established in coastal cities have been especially successful.

	d.
	the success of the zones has contributed to a shift in the distribution of the population.
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